bé%\\w km“ b b et
e PERFE %i*‘* ! 3@ [\/_AN
by Sunrise Windows, LTD

Coastal Performance

Sliding Patio Door
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Sliding Patio Door described herein complies with the 2018 International Residential
Code (IRC), Sections R301 & R609 and the 2018 International Building Code (IBC),
Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

96" MAX. OVERALL FRAME WIDTH

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

96" MAX. OVERALL FRAME HEIGHT

VA

V4

1.

2.

Anchors shall be as listed and spaced as shown in the details. Anchor embedment to
base material shall be beyond roof covering.

When used in areas requiring wind-borne debris protection, this product complies with
Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC and does not require
impact protection. This product meets missile level "D" and includes Wind Zone 3 as
defined in ASTM E 1996.

Allowable design pressure requirements must be equal fo or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevation, design pressures & general notes

Horizontal & vertical cross sections

Frame anchoring

Components

/
V4

Vi

L Water Bar Required

Documents Prepared By:

P.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

Ry

SUNRISE WINDOWS

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PART OR ASSEMBLY:

BY

NO)| DATE

REVISIONS

DATE: 3/04/21

: DIMENSION

SCALE:  N.T.S.

96.0" X 96.0" | 48.63" X 91.75" | 41.63" X 85.5" |G1, G2

DWG. BY:

RW

CHK. BY:

LFS

N |WIN|—

Bill of materials & glazing detail

DRAWING NO.:

TX—-5165

sHEer 1 oF 5

Z:\Clients\Sunrise Windows\B - Texas Dept of Ins\TDI - XXX ID XXXX SGD PH IMPACTAC - Drawings\TX-5165.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOO aNIgTing ‘Mm°"d L2022 Q

: SNOISIATY
- 193y LVOl4I14390 i
SEIINION ﬁum“_w.mwp.._woma 40 GUVOR SvXaL mzm@ﬂm%umwmmo Ad 11vd [ON Sloal=lo] o 5_
z 5 o AN Qv. oz L O | L
g6SEE 14 OOMIDA OFZ xog ‘0'd \:@. KTGNISSY 50 1Hvd SIZ | Tlz5]®
*ONI ‘SINVIINSNOD SNIaIING SHGENH BERNE W ils M W_ 2_
o =
£ZILYOL# 'I'd Swxal g M o| ¥ w &
‘3'd ‘IPJWYDS °4 uopuk :Ag peJspdeud sjusewnosoqg :10Na0yd - W m & 5
£z 9-4
) [
L()..(.(MW..m @ o
SN . Q o2
S omwﬁ%.\.a%o i -
ae,, & 73N €, Z —
o e, €z 09 = w
FlamsStro, 2 ] I
LR SR I8 4 9 w Q O
“ ..... \<O .-..“.. @ — O
..... P
Yo ;I 2 o5 =z
4 XS = 0O O
~|\\ . oK —
O ov& ............. (e =
N2 RN o O
Hnanees =
1%
(@]
o
O
<
O
=
v
>
)
[2'4
o
= ~
5 - _ :
w N o o~
o™~ N =
=
o
[
% = w
oz 5
o ) 3
m CHUE T, :
2)() ® ] S
] m? lim 2
| BNE 5 R w oy S
o _an =
(=, | = ‘T & 3 @ ®
. 1= , &= ol
S WM (=S N. @ ﬂl
- ) | U
I [~
(=] ; | > ~ \ @
E | N
r 5 @ mw @/’ | @
s (&)@ =N i kg
oz %
o~ = O o : S
[} oz = R
= I &l :
Z [}
ol @\ V. = 0 0 =
mv @\‘ﬂ_ i i nsft _ m
_ a
= /g _ "»
N b 2 _ o
NP S
LR . 2
<
_ | —
v m_w © 4 S
N
) £
b . = _H -—® =
= — |
2z (3 I i © ﬁv
s 2u ) 0 m X |“ ©
2z (3 5 J
) & ©
S nmu
A " £
e o __
1l =_ . m m“..
. LT =
@ Ty :

BMp'59LS-XL\sBUIMBIQ - D\LDVdINI Hd DS XXXX I XXX - IQL\su| 40 3daQ sexa] - g\SMOPUIM 8SUUNS\SJUIID\:Z



ZA\Clients\Sunrise Windows\B - Texas Dept of Ins\TDI - XXX ID XXXX SGD PH IMPACT\C - Drawings\TX-5165.dwg

2X FRAMING

(BY OTHERS) \

FRAME

PANEL

3
& (TYP.)

(TYP) ’*

o ||

16" MAX. O.C.
(TYP.)

(TYP.) H
JAMBS  _
H (TYP.)
| _
S |
- WOOD || -
CONCRETE H
_ SILL _
A IHI | 1
FRAME ANCHORING

FLOOR SUBSTRATE MATERIAL
CONCRETE (MIN. 3000 PSI)
WOOD (5.G.>=0.42)

CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the comers may be adjusted to maintain the min.

. Concrete anchor table:

edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

1ZE

® 1/4" 1-3/4" 1-1/2" 4"

DeWALT - - — "
utrracond 1/ 1-3/ 2-1/2 4

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

Peas W a L LTS

QF.TE

oo

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123
INC.

813.659.9197

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS,
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

SUNRISE WINDOWS
FRAME
ANCHORING

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ| DATE

DATE: 3/04./21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5165

© 2021 R.W. BUILDING CONSULTANTS INC.

SHEET 3 oF 5



“ON| SLNVLINSNOJ aNIaing "M"d L2022 @

Z98LL—d # NOLLVMLSIOZY 40 ILVOI4LLNID SNOISIA3Y
SYFIANIONT TYNOISS3J0¥d 40 auvOoE Svxal SININOdAOD Ad 31vd [ON|— = |0 5_
eae " Nl vl v
ceece o et n o g@ KTGNISSY 90 Lavd == . m i
"ONI ‘SINVLINSNOD SNIQTINg w = g J 4_
o s
C2r0Lf Td SvaL SMOGNIM 3SINNS uldlg 27 |y
‘I'd PIWYysSS 4 uopuik :Ag pedpdeld sjuswinoso(q 1109Naoyd 2|8 z E m z
Q
T S
LTRSS 2 =)
& S 2
S m 3
1 ¢ o
:mm.o \'r' [
aa
D M
= D S
Q =
M -
| T
WLC'1 _ .
. =<
'S =
I -
o2
5 |1 ] B
Q &N B
— Yo} ac|on
Q
R = ™
i ®
W£9°1
=
=
o3 21T _
O =
w“ > < ﬂ ;
v = Q
= og
= N S i
@ * | | m
in
S .
S A S8 W7 1°0
|
B :_.N.N f
|
*m _DH LT 1 | .M
(1T
: | 3
Ol5
g
a ul
= m (]
al__J = 8 . B2
w = N
Q o
800 e A 0 = [ °
w ~, o
5 0 = 0
3
= =
_J||” m

BmMp 591 5-XL\sBuUIMeIq - D\LIVAINI Hd aDS XXXX QI XXX - 1aL\su] 40 3daq sexa - g\smopulm asuuns\sjus!i|D\'Z



Z:\Clients\Sunrise Windows\B - Texas Dept of Ins\TDI - XXX ID XXXX SGD PH IMPACT\C - Drawings\TX-5165.dwg

—\'.\\‘.‘“:3'\‘-1111

50 | STILE REINFORCEMENT (CS TYPE B HOT DIPPED GALV.) STEEL e I
51 | #8 X 2" TRUSS HEAD QUADREX SCREW STEEL F R AN
52 | INTERLOCK ALUM | Fwi 35

53 | STILE REINFORCEMENT (CS TYPE B HOT DIPPED GALV.) STEEL | 4

54 | Q-LON WEATHERSTRIP (SCHLEGEL NO. QEZ 345) - 9

55 | WATER BAR ALUM |

56 | #8 X 1" PPH SMS $S

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
B | 2XFRAMING (SG >=0.42) WOOD
C | 1/4" MAX. SHIM SPACE -
F | #10 FH SMS (1-3/4" MIN. EMBEDMENT) STEEL
G |1/4"FH DeWALT OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
H [#10X5/8"FHSMS STEEL
P | #10X3"FLAT (9/16" @ HEAD) WOOD SCREW (1-7/16" MIN. EMB.) STEEL
1 FRAME HEAD* PVC
2 | #8 X 2-3/4" FH QUADREX WOOD SCREW STEEL
3 | WEATHERSTRIP (SCHLEGEL #HF-7522-270) -
4 | HEAD TRACK* PVC
5 | STILE & RAIL* PVC
9 | SHIM -
10 | TANDEM WHEEL NYLON
11 | ROLLING RAIL ALUM
12 | SILL* PVC
13 [ SILL DUST COVER* PVC
14 | SILLPLUG NYLON
15 | SILL WEATHERSEAL -
17 | LEFT CAP FOR SILL ADAPTER* PVC
18 | RIGHT CAP FOR SILL ADAPTER* PVC
19 | #8X 5/8" PAN HEAD, SQUARE, SELF-DRILLING SCREW STEEL
20 [ OUTSIDE SILL CLADDING ALUM
22 [ INSECT STOP s
23 [ SCREEN =
24 | #8 X 7/8" PAN HEAD, QUADREX, SCREW STEEL
25 | FIXED PANEL ANCHOR BLOCK* PVC
27 | SCREW CAP NYLON
28 | GLAZING BEAD* PVC
29 [FOAMPLUG =
30 [HEAD WEATHERSEAL =
31 | #8 X 1-1/4" PAN HEAD, QUADREX, SCREW STEEL
32 [ SASH STOPPER EPDM
33 [ WEATHERSTRIP -
34 | FRAME JAMB* PVC
35 [ WEATHERSTRIP -
39 [HANDLEKIT STEEL
40 | OPERATING PANEL SIDE STILE* PVC
42 | KEEPER FOR SCREEN -
43 | #4 X 5/8"' PAN HEAD QUADREX SCREW STEEL
46 | STAINLESS STEEL DOUBLE POINT MORTISE LOCK KIT STEEL
47 | SASH COVERING CAP* PVC
48 [LOCKPLUG* PVC

* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE

PRODUCED BY EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR

RIGID PVC EXTRUSIONS".

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

SILICONE 1/2"
(PECORA 896HIS GLASS BITE
OR
[—]

C || s [ 5/32" ANNEALED

0.090" SAFLEX®STORM PET INTERLAYER
= N 5/32" ANNEALED

AIR SPACE

N

~_ 5/32" TEMPERED

SUPER SPACER

<: ) GLAZING DETAIL
Intigral Glass

SILICONE
(SIKAFLEX-552)

S =\l =

] /2"
GLASS BITE

— 1" THICK GLASS

5/32" ANNEALED
0.090" SENTRYGLAS® INTERLAYER

I~~~ 5/32" ANNEALED

/A

AR SPACE

GLAZING DETAIL
Cardinal Glass

\
~~_ 5/32" TEMPERED

ST. STEEL SPACER

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197

Documents Prepared By:

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

SUNRISE WINDOWS
BILL OF MATERIALS

PART OR ASSEMBLY:

PRODUCT:

& GLAZING DETAIL

DATE

NO.

REVISIONS

DATE: 3/04/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX—-5165

SHEET 5 oF 5

© 2021 R.W. BUILDING CONSULTANTS INC.



